2 Peineaatta e MY | NIMBUS

IES » GATE * PSUs * JTO ¢ IAS * NET ——Ye Hai Future Ki Taiyari——

JSSC-JE

Electrical
Engineering

Exam Held

On
03/07/2022

ScanThe QR Code
For Video Solution

o0l Questions & Detailed
%ﬁﬁ Solutions

O +9180944-41777 ‘ www.engineersacademy.org



EE : Technical JSSC-JE-2022 ENGINEERS ACADEMY
1.  The equivalent inductance between A and B 1s 1. A3NB® 99 H9ded UNdxd &7
6 1 6H
A T A TR0
3 20 2k g 20 g
121 12H
B 0000
B G000
6 H 6 H
s e AT (a) 3.006H (b) 4H
@) 3. ®) (c) 36 H @ 12H
36 H d) 12H :
(©) @ 2. ol Allawss AR U BN U BT g ad
2. Ferran.ti -effect on long overhed line is experienced Adl 2 uld
when it is
(a) Onfullload at 1.0 pf D0 pf w Tﬁ IR
(b) On full load at 0.8 pf (b) 0.8 pf & oI TR WX
(c) No-load condition (¢) 7T ATS HoTeH
(d) Onfullload at 0.6 pf () 0.6 pf & qc}j]( YUY
3.  Themaximum demand of a stationis 160 MWat 5 g IS BeeY I Uh A &l arferepas |
a load factor of 0.8. What is the daily energy 160 FTAE & | WIF BT 2 Holl Scure fehd
production of the station? 114
(a) 3072 MWh (b) 207.2 MWh (a) 3072 MWh (b) 207.2 MWh
(c) 2072 MWh (d) 30.72MWh (c) 2072 MWh (d) 30.72MWh
4.  If the frequency of a transmission system is 4 Ife U HAROT Golell BT ATgfed BT 60 8cw |
changed from 60 Hz to 50 Hz, the string efficiency, 50 Beol H gacl 99T ST 8, A1 g Sef, 8111 |
will
(a) ©IT ST
(a) Decrease
b) d¢ W1
(b) Increase ®)
(c) May increase or decrease (¢) 9g T Bie =
(d) Does not change (d) “TE 9T B
5. A DC series motor is accidentlly connected to 5, Ush DC $¥ldl Mew Todd) I Ubo—dv AC

LD cc care s psuz arD

ENGINEERS ACADEMY
N¥] men o

single-phase AC supply. The torque produced will
be

(a) Pulsating and unidirectional
(b) Steady and unidirectional
(c) Oscillating and bidirectional
(d) None of the above

3yl 9 S8 Wbl 81 A1 Surfad i sT|
(a) T 3R Y[TSHwRTTA

(by eI 3N TSR

(¢) <ot 3ile [Zfaflin

(d) SRIKT § A B 8
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6. Ifa current 2A is flowing in a circular coil X of 6.  Ifd 5 em 0T 9dl U CRICaN agt@?ﬁ X7
radius 5 cm and a current 0.5 A is flowing in TRT 2A YaTfad &1 981 & 2R 25 cm BT 461 U
another circular coil Y of radius 25 cm, then the e Tﬁﬂ m Y 3 T 0.5A yarfed & @l
ratio of the magnetic fields, B, and B produced S T 9 T ST e A B, il Bl
by them will be: ET*T[ E
(c) 10:1 (d) 20:1 (¢) 10:1 (d) 20:1
7. Whena 20 m copper wirc is connected toa 110V 7 g 20mdid & aN Bl wig 110 V 39 TATe 9
mains supply, the power dissipation is W,. Now SISl ST & d) fRvtell aruea W gl 2 a9
the copper wire is cut into four equal pieces and ﬂﬁ- AR ET TGN T =T 3 Eﬁé?b_%' TR
connected in par.al!el t.o th.e same .supply 11.0 V, 3 llOV;-LI Gﬁ@ e
then the power dissipation is W.. Find the ratio of 1
W, and W,: g™ W, BT 81 W, 3R W, BT 31U i
(a) 1:4 (b) 1:8 i 31“4 -
) 1:16 @ 1:1 52;1:16 Ed;1:1
8 A conducting wire of length ', arca of cross- ' ' .
e S e 8 I'OWERE &I b didd AR, STH6T i
section 'A' and electric resistivity p is connected o
between the thermals of a battery. A potential B1A Sﬁq JEgT IR p & o1 U ETEJ\}[ b
difference V is developed between its ends. clietl @ dla sitsr w21 31 [Srer g8b R &
causing an ¢lectric current. If the length of the 49 faiaR V [asia 8 9 fagd aRT 6
wire of the same material is trippled and the area UaTE BT & | Afe S99 SRl & IR & oErg b
of cross-section 1s one and havled, the resultant AT T R F 2 T fPT SaT &, ar
current would be: Gl s '
VA 3 VA
YA > VN VA 3 VA
@ o ® 370 @ ®) 557
VA VA
(c) Tpi (d) None of these (c) z—pl () =79 9 FIE T8
9.  AnRC circuit as shown in the figure is drivenby 9,  © RC Ofdhe w97 o oz & fewmar Tam 8, v
a AC source generating a square wave. The output AC CId gRT Sdiferd 3iar 8 ol Ub 9 a¥i
wave pattern monitored by CRO would look close IT=T 3T & | CRO 21T Hifvex fhu v 3MICYE
to: qq Ued fhad SHr o R QR
R R
@ NS o S ONGY R VORI,
@ NN @ AL © NN @ A\
10. Which of the following is not a characterstic of 10.  [ferRed 3 & bl MOSFET ) [a€iver e

ENGINEERS ACAD€MY
\_,.z

MOSFET?
(a) Voltage-controlled device

(b) Current-controlled device

(c) High input impedance
(d) Three-terminal device

4

(a) diceol fRIfaT foaes
(b) &7 FRIEE fSaEy
(¢) T FIYC wfcramrm
(d) 79 efiFa fsaey

5 1 BATE + PUs + JTD s 1a%
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11.  Which of the following statement is not true? 11. frfTaiad 4 9§ S |1 H2F T T8I 87
(a) Magnetostrictive materials are used to convert (a) TIgaraa Sull &1 TIFH Hoil 9 Ul
electromagnetic energy into mechanical & @ fou SeiRefdeg gt &1 ST
energy and vice versa. foperr STaT & SR U faudd |
(b) Impedance is the current lim.iting characterist.ic (b) URIEEIT U giabiR &) adar D Ry
of a transformer and is expressed in 3 it yfyerd & erad 49 ond! 2
percentage. _ . .
_ _ (c) TTEHMAR § TSI e BT JHEM 4T w9
(c) Eddy current loss in the transformer is T R e N
basically PR loss present in the core due to _ RS X ol @ DI
the production of eddy current in the core. A ols PR bt gl
(d) None of the above (d) Sud A 9 m el _
12. Leak transformers employed in Sodium Vapour - _ AR et A et el g <t el
lamp acts as a Choke coil for limiting the HATelT o H¥ W B T B B
when the lamp starts conducting. {0 b HiFel BT A8 B BV o |
(a) Voltage (b) Resistance (a) dleds (b) wfcrer
(c) Current (d) Capacitance (c) &I (d) i
13. Which statement is not the about power factor? 13, Uiay hefe¥ & QR H BT i w8l Tal &7
(a) Low power factor leads to less energy loss. (a) T AT BTG § HH Holl T BRI 2 |
(b) Loss power factor results in poor voltage (b) T VMR B P IR TR A
regulations. foT B 7|
(c) Itis advisable to improve power factor to unity. () UIaR ey bl Yebdll H T Sferd 2|
(d) All ofthe above (d) U el
14. Which statement is true about coefficient of 14 SIT¢IuI (adhesion) b 1 b AR 3 B
adhesion? BT HA 77
(a) Ttisthe same on DC and AC traction systems (a) T8 DC ARAC SRR RecH WX FA B |
(b) Higher in AC traction and lower in DC traction (b) AC TR ¥ Soa ARDC LR H 4
(c) Higher in DC traction and lower in AC traction (¢) DC g  Feel 3lY AC CRIT H &4
(d) All ofthe above (d) SRS ) _ _
15. Control system working under random condition 15. e ﬁ%ﬁ RS
is known as D EIHT AT % |
(a) De-energizing (a) STV
(b) Energizing (b) 3_ 2 _
(c) Closed but not bounded (&) ae W el
(d) Stochastic control system @ _
16. ®MI& (Shading) YT HI HTH IUGdd ®UT 9

16.

ENGINEERS ACADEMY
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LD cc care s psuz arD

Shading effect is most suitable referred to
(a) Thermal power plant

(b) Nuclear plant

(c) Solar power plant

(d) Wind power plant

e foar 9T 21
(a) ¥ UTaR Wi
(b) U=HT[ HAA

(c) TR Holl wAd=
(d) 9aq ol =
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17. Firing angle of the use for 17.  WRRT @l b Iy SUANT fBar ol 2

18.

19.

20.

21.

22,

ENGINEERS ACADEMY
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(a) To bumn device any time of SCR

(b) To control on-off timing of SCR

(c) To control off timing of general transistor

(d) Tocontrol ontimingof thediode without controller

Which of the following can work dual side wave

shape clipping
(a) Diode (b) Trode
(¢) Triac (d) FACTS

Which of the following is a method of Bus-bar

reactors?
(a) Tree system (b) Radiator system
(c) Tie-bar system (d) Norton system

What percent of the full-load current drawn by a
transformer when no load is applied?

(a) 0.2t0 1.0% (b) 0t00.05%
(c) 6to10% ) 2to 5%

In star connection, which statement is true?
(a) V, =3V, andl, =3I,

(b) V, =3V, andI =1,

(¢) 3V, =V, andI, =3I,

(d) V, =V, andI, =3I,

A slab of matenial of dielectric constant K has the

same arca 'A' as the plates of a parallel plate

3
capacitor and has a thickness gd, where 'd' 1s

the separation between the plates. The change in
capacitance (C') in terms of original capacitance

g, A
Co [Co = OTJ when the slab is inserted between

the plates is:

@>c(5%§ﬁ (MC4E§§J

5K K 13
(©) C°[2K+3] & C”( 5K }

18.

19.

20.

21.

22,

(a) SCR & fh=ll ol 9o fSa=s &l ol &
fery

(b) SCR & 2if7—aif® ¥ &l fFfa &9 @
ferg

(c) AR ¢ifoRe? & a9 &1 (3T & @&
fery

(d) fRiEE & 491 SHITe & w9 U= =T e
& ferg

1 | 9 B g3 AISS 99 WY [dFeltiT HT HH

Y Uhdll & |

(a) SMITS (b) grIls

(c) fgush (d) FACTS

fo=fafad § & ®F-91 999X Rudes & vh

fafer &7

(a) 9T (Tree) UUTIAT (b) WfSUex fiweH

(c) TE—9R RRew  (d) AfdA Red

o4 Blg IS T8l AT ST & <f Siah iR grr

Wil 18 |et—dlls B Dl fbd=T Uil BIdT 27

(a) 0.291.0% (b) 0H0.05%

(c) 69 10% (d) 28 5%

TN HAFe o, BT B I 27

(a) V, =3V, a1, =3I,

(b) V. =3V, 3R I =1,

(c) 3V =V, 3R, =3I,

(d) Vi :VPSﬁQIL:\/:?TIP

U Wi & SEdfded RRie K O 396!
oIl A’ ST TR Wie 9enfa &) <iel ©

e R e ) Alerd 4 B, 0 el
94 @ g0 & ©iel & 49 ®ig I W) qd
Nl Co[cﬁsfja%ﬂaﬁﬁqﬁaﬁfﬁﬂrﬁm
(C") T A7 feber=T BT

3K 5K
(a) CO[2K+5J (b)c°{2+31<}

5K K +3
©) CO[2K+3J (d) C"[ 5K ]

www.engineersacademy.org | www.onlineengineersacademy.org

www.eapublications.org | www.nimbus.org.in | Helpline # 809 4441 777



Your GATEway to Professional Excellence
IES » GATE ¢ PSUs * JTO ¢ IAS « NET

\:&_ ENGINEERS ACADEMY

H

SSC-JEn ® RRB-JEn ¢ JSSC-JEn
OFFLINE CLASS ROOM COURSE

New Batch Start From

06 JUuLY 2022
11 JuLY 2022
3 & 10 July, 2022

EA RANCHI
CENTER

Sri Sai Tower, 5th Floor, Debuka Nursing Lane,
Lalpur, Ranchi - 834001 (Jharkhand)

o +91 72399-90222
www.engineersacademy.org

ENROLL NOW >

GATE*SSC-JEe MPSC-AE /\
OFFLINE CLASS ROOM COURSE

04 JuLY 2022

MORNING BATCH [EEINND

EA NAGPUR
CENTER
E/6, Sai Nagar,Omkar Nagar
Road,Near FedEx Courier,Ring

Road,Manewada,Nagpur

O 101 72399-92333

www.engineersacademy.org




EE : Technical

JSSC-JE-2022

ENGINEERS ACADEMY

23.

24,

25.

26.

27.

ENGINEERS ACADEMY
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Which of the following is not limitation of the 23,

superposition theorm?

(a) This is applicable for unbalanced bridge
circuits

(b) Applicable only for linear circuits

(c) It is used to measure current and voltage but
cannot be used to measure power.

(d) Both (b) and (c)

Which of the following statement 1s not truc about 54

heating elements of electrical appliances?

(a) Itmust have high resistivity so that it produces
more heat even if low current is flowing
through it.

(b) It must have high temperature coefficient of
resistance.

(c) It must have high melting point so that it does
not melt even at high temperature.

(d) All ofthe above

1s an optical illusion where the human eye
perceives the continued presence of an image after
it has disapperead from view.

(a) Glare
(b) Mirage
(c¢) Rectilinear propagation

(d) Persistence of vision

A dead storage battery can be revived by : 26.

(a) A dose of H SO,

(b) Adding so-called battery restorer
(c) Adding distilled water

(d) None of the above

Which material is not used to making filaments of
Incandescent lamps?

(a) Carbon

(b) Tantalum
(c) Tungsten
(d) Amalgam

25,

27.

11 | 9 DI ALRIG0T Y B T T8 57
(a) T8 rdferd faol wfbe & ferg A Bl
(b) Baat Wak Afdhe & Ay AR BT 2 |

(c) SHHT STIRT Hic AR diccdl Bl AU &

forg fopar STTaT 8 <ifdhd 29T SUANT @i
HT 7 B foIu 87 fHam o 9T 2 |

(d) ST (b) 3R (c)

faeId SUhNO & A9 dedl & g | fwafertia 4
A P B2 9 5] =

(a) 2 Fed Ul 81 =iy aifd w4

€TRT waTfed B9 9= 41 I8 31feres S T Soa—
|

(b) IHH WIS BT o JAIHF 0TI BT AR |

(c) SUBT Taih Ied BIHT AU difeh A8 Fod
T oY oY = foee

(d) SURIFT T

B0 & g U TG 89 & 419 IUD] (AN

SuRerfdr &1 AT B |

(a) b

(b) faRrST

(c) Er yar
(d) gt &1 gear

U S8 R 42 6l (771 g YAoiifad foba
ST LT &

(a) H,SO, &1 T AT 9

(b) TATHRT Jedl REIRT STISH
(c) JATH Glel STelhy

(d) SRIKT § A B 8

T FUINT 81 fhar ST 27

www.engineersacademy.org | www.onlineengineersacademy.org

www.eapublications.org | www.nimbus.org.in | Helpline # 809 4441 777



EE : Technical JSSC-JE-2022 ENGINEERS ACADEMY
28. A plane clectromagnetic wave of fequency 550 28, 550 MH=z 31‘@%1 Uh Uh 99dd fa%d g#qqﬁq
MHz is travelling in vacuum along x-direction. At T Frafa  x-f2em =5 aie T Y W 2| v
a particular point the value of magnetic field is faeiy farg Uy qrgaT elm @1 AT
B-78x10%5T - The value of electric field at = o R -
B-7.8-10%3T ©| 9 favg W faga &= &
this point is: ' §
LG
(c =3 % 108 ms? and £, ¥, z arc unit vectors (c=3x 10°ms? R &, 9, 2 x,y ok 2 fawmw
along %, y and z directions) 3 Wi 2)) o ’
(a) 23.4%V/m (b) —23.4%V/m
47 b) -23.4%
(©) 2.69V/m ) -2.69V/m (@) Z34yV/m  (0) 234yV/m
29. The ratio of the readings of two wattmeters (¢) 2.6yV/m (d) 269V/m
connected to measure power in a balanced 3. 59 ieqfor 3ol el W eIkt wae @ forg @ 2T
Phase load 1s 3 : 2 and the load is inductive. The Jefiex B O @l ST 3 : 2 2 i e
power factor of the load is ) 3 '
gefded 5| dle &I grav haey |
(a) cos{tan'l(0.577)}lagging @) cos {tan’l (0.577)} Fir
(b) cos{tan 0 577 }leading (b) cos{tan"1 (0.577)}%
(©) cos{tan’l (0:346) }lagging (c) t:os{tan'1 (0.346)}W
(d) cos{tan (0.346)} leading (@) cos{tan"(0.346)} hfT
30. Q-factor of a serics RLC circuit possessing  30. 60 Hz %1 YHF~C Mgl 3N 12 Hz 31 dfager
resonant frequency of 60 Hz and bandwidth of 12 aret U s¥ErelT RLC e & Q-BIH 2 |
Hy i
: (@) 3 (b) 5
(a) 3 (b) 5 () 4 ) 6
(c) 4 @6 31. 50 Hz &1 3M4RT R U Sedex 1T €1 ofl diefl
31. The reactance offered by an inductor at a fdend 15 Q2 1 Al anglRy &) 4@l¥ 60 Hz be
frequency of 50 Hz is 15 Q. If the frequency is = o '
increased to 60 Hz, reactance becomes R S, 31 8|
18Q 15Q
(@) 180 (®) 150 8 240 Ed; 250
24 Q d) 25Q
(<) “ 32. f&W u=Ri &7 98 U7 Wl FEDY G D
32. The property of a material which opposes the T PRI BT & e 27
production of magnetic fluxis called ’ '
(a) Permittivity (b) Permeance (@) _ ®)
(c) Both (a)and (d) (d) Reluctance (c) ST (a) R (d) (@)
33. U ¥ b UK bl A4 0T 0.0008°C 3 |

33.

ENGINEERS ACAD€MY
\_,.z

The temperature coefficient of resistance of a wire
1s 0.0008° C. If the resistance of the wire 18 20
ohms at 0° C, what 1s the resistance at 500° C?

(a) 32Q (b) 28 Q
(c) 24 Q ) 250

afq IR BT WfaREr 0°C YR 20 319 B, T 500° C
U= YfRIET BT T T 27

(a) 32Q (b) 28Q

(c) 24Q d) 25Q

5 1 BATE + PUs + JTD s 1a%
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34.

35.

36.

37.

38.

39.
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The main advantage of distributing the windingin 34,

slots is to

(a) Reduce the iron losses

(b) Both (a) and (d)

(c) Reduce the amount of copper required

(d) Reduce the harmonics in the generated emf

qISfST I T 4 gies 6B 4% M ©
(a) <lla & JHAM &l HH BT

(b) ST (a) AR (d)

(c) ATILADH e B HAEAT HH BT

(d) I~ emfdi MR BT HH HAT

35, AN WR grES Hihe § Uh ar] AR STl
An air gap is usually inserted in magnetic circuiit ST & arfh
so as to . :
a) gSdCH ¥
(a) Increase in inductance Eb; aﬁ;ﬂ?&' ¥ gtz
(b) Increase in flux and mmf © . 3
¢) D THC EICTd
(c) Decrease the value of magnetizing current Y 3
(d) Prevent saturation @ N
Ab t of length 14 i< vlaced in th 36. 14 cm <l é Pl Uh S JH b B QAT
ar magnet of len cm is placed in the ey R ¢ SR
magnetic meridian with its north pole pointing v i v g 8 © %HE; N
towards the geographic north pole. A neutral point I 4d & RIS (Mcr'\' %rl\(yq[b b
1s obtained at a distance of 18 cm from the centre 18 cm 1 3 W QEB 64”"_"1 favg T &1 2 |
of the magnet. IfB, = 0.4 G the magnetic moment A B, =0.4 G b BT b AT X
of the magnet is (1 G =10~ T) (a) 288.0 JT- (b) 2.880 T
(a) 288.0JT™ (b) 2.880JT" (c) 6.880JT (d) 31 4 B A8
(c) 6.880JT" (d) None of these 37. e G TADER ST B TR BT Fawer
As per increasing luminous efficiency which ol 87
TETEIE; I COniSeh. (a) FTET-ATH < FADSHUE < BATTT < AWV
(a) Carbon-Arc < Incandesent < Halogen < SIDISIETS)
Mercury iodide (b) B AMNSBIFS < Ballol < HET-AATH <
(b) Mercury iodide < Halogen < Carbon-Arc < sqdiedic
Incandesent - SN
dJhodc < Bllluld < hld- =
(c¢) Incandesent < Halogen < Carbon-Are < © iﬂ?f
Mercury iodide - -
(d) Mercury iodide < Carbon-Arc < Halogen < R §H¢II6I$G = et = =
Incandesent SNERA _ _
Which of the following properties of a refrigerant 38, WBSTER A IR & A BT 1T S
is undesirable? 2?
(a) High critical temperature (a) Sed ifeds AT
(b) Low specific heat of liquid (b) TRl ) B4 fafere G
(¢) Highboiling point (c) = FRFIP
(d) High latent heat of vaporization (d) aNEROT B Fed W ST
Auto pilot car is the example of 39. Ml U PR &1 IETET B |
(a) Lypnov'sstability (a) <ITgdld b) ReRdr
(b) Open loop system (b) AT U s
(c¢) Closed loop system (c) §< o[u RrcH
(d) More than one of the above (d) SWIF | & Th ¥ Al
www.engineersacademy.org | www.onlineengineersacademy.org (7)
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40.

41.

42.

43.

When we apply a signal other than (externally) 40.

system and its affecting output is called
(a) Digital data system

(b) Stochastic control system

(c) Adaptive control system

(d) Stimulus

41.

The supply in growleris
(a) DC

(b)y AC

(c) Both AC and DC

(d) More than one of the above 42,

A conducting bar AB of length 'L’ is free to slide
on two parallel conducting rails as shown in the

figure. There is a uniform magnetic field |
pointing outward to the page. When the bar moves
towards the left at a constant speed +;, then the

directions of induced currents I, and I, flowing
through R and R, respectively is:

A
® © 9@ ®
RE® © —@n SR
® ® @@ ®
B

(a) L is in anticlockwise direction and I is in
clockwise direction

(b) BothI and L are in anticlockwise direction

(c) BothI and I, arc in cockwise direction

(d) I, 1s in clockwise direction and I, is in 43,

anticlockwise direction
In an underground cable insulating material is used:
(a) Oil impregnated paper
(b) PVC, varnished cambric
(¢) Rubber
(d) More than one of the above

Sl B9 (4181 WU 4) (HECH & rdran (B oy
fHTTeT B AR Bl 8 il g9 gAIfad arseye
L7y &Bl Glldl B

(a) feforea Se1 Rren

(b) TibRed (A= YoTed]

(c) 3Fdhel Fizor yorredl

(d) SWIHT

e amyfd B &
(a) DC

(b) AC

(¢) 2T AC 3R DC

(d) SURIRT H 9 b 9 3ferh

L' el BT Uh 9l Be AB a1 WY
el Yl U TS e & foly wad= @ o fh
fer  fSmrr 14T 8 | SN ardd Yl 8 4
UHEH g & | [T faer s 9
qIeN &1 AN 8 | Old ©8 &I Uh a3 | gl
AR A &l 9T 8, a5 AT R AR R, 9

g5 drell U el 1 iR L &1 faem shi:
A
® ©® ®® @®
—>
v —
RE® ©® “®r =R
®©® ® ®® @®
B

(a) I, gt faem # & oL, fdorad feem 4 & |
(b) I, &fR L, QT apred fa=m 4 & |

(c) I, 3R L, T <féiomad faem 4 31

(d) Laferorres faem 7 2 afiR L grmad faem 7 8 |
Ueh AT el 3 Iolc AR BT ST fehar
SITT 3 |

(a) AT THUSS YUY

(b) PVC, aiffer &figs

(c) XX

(d) SWRIET H ¥ Uh A 2AfeH
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Pyranometer 1s used for collecting : 44.

(a) Temperature of plants
(b) Solarenergy
(c) Tidal energy
(d) Wind energy

In microwave oven heat is generated by

clectro-magnetic rays with operating frequencies 45,

inthe  range.

(a) 300-650 GHz (b) 900-2450 MHz
(c) 300-450kHz (d) 100kHz-150 MHz
In RLC circuits, the current at resonance 1s

(a) Maximum in series RLC and minimum in
parallel RLC circuit

(b) Maximum in parallel RLC circuit and minimum
in series RLC circuit

(¢) Maximum in both circuit
(d) Minimum in both circuits

As per IS -1271, which insulation class is used

over 180° C? 47.
(a) C (b) B
(c) F (d) H

The value of power dissipated across the Zener

diode (V,, =20 V) connected in the circuit as shown 48.

in the figure i1s x x 107 watt. The value of x,
18

R, =40 O
A A ?
a
o V,=20V §$
]
B
() 25<x<65  (b) x>65
(c) x=2.5 d) x<2.5

The electrolytic rectifier operates on the principle
that an aluminium electrode in an electrolyte will
only conduct when it is charged.

(b) Positively
(d) None of the above

(a) Negatively
(¢) Neutral

46.

49,

YRNFIHICY 6T IUANT U 6 & (70 fohar

ST &

(a) UEIT T IT9HH

(b) IR Hull

(c) AR Hofl

(d) 9ad Foll

HIZhIad e W1 # AT amgfert

& Rl fAgc—dradly fhwoll grr T S Bl

o |

(a) 300-650GHz  (b) 900-2450 MHz

(c) 300-450kHz  (d) 100KkHz-150 MHz

RLC ufRuer # 3r1a uv &I sidl &

(a) AT RLC # 21f¥eha¥ 3R ¥¥iay RLC
Hihe H =T

(b) FHFTR RLC Hihe H 3rerhdd 3N s3]
RLC dfdbe 3§ =gAa4

(c) ST Afdhe H arferpaH

(d) ST \ibe § 1

IS -1271 & 4R 180° C 4 3ifeb dyHH U
feh ¥ F=gATM T BT IUANT BT ST 87

(a) C (b) B

() F (d) H

fau Ty o & arger, widbe d g ol Srile
(V, =20 V) 3 g 2fdky &1 99 x > 107 d1e
2| x B A =

R,=40Q
A AW +
=
V, =20V =
28V §£
B
(@) 25<x<65  (b) x>6.3
() x=2.5 ) x<2.5
SoldglcEcd SdehER 59 HEld TN B Hdl
& (5 gaagidge 3 uh YegfiFm gdddls v
NEIGCRSUIRSER S AT BT 2 |
(a) ZEUTHSD (b) EHFTHD
(c) & (d) SURIET I 9 IS T8

www.engineersacademy.org | www.onlineengineersacademy.org

www.eapublications.org | www.nimbus.org.in | Helpline # 809 4441 777



EE : Technical

JSSC-JE-2022

ENGINEERS ACADEMY

50.

S1.

52.

53.

54.

ENGINEERS ACADEMY
N¥] men o

. T

A moving coil meter has a resistance of 100 Q
and at 5 V it gives ful scale deflection. Find the
value of external resistance to be connected in
series for measuring 300 V.

(a) 6200 Q (b) 3900 Q)
(c) 4000 Q (d) 5900 Q)

For good cable insulation, Megger reading ratio
range for 60 seconds reading and 30 seconds

reading is
(a) 1.0-1.25 (b)y 1.4-1.6
(c) »2.6 (d) <1.0

In an ammeter, the deflecting torque is proportional
to the current passing through it, and the instrument
has full scale deflection of 75° for a current of 4.5
A. What deflection will occur for a current of 1.5
A when the instrument is spring-controlled?

(a) 25° (b) 35°

(c) 40° (d) 20°

Calculate number of revolutions of single phase
energy meter disc in 10 minutes when it is
connected to 500 watts load. Meter constant is
3600 rev per kWh.
(a) 1200

(c) 400

(b) 300
(d) 600

In the figure given, the electric current flowing
through 5 kQ resistor is 'x' mA. The value of x to
the nearest integer is

0
=8
@)

5kQ
AMAA

%]
=R
@)

o
N
@

(a) 4<x<8
(c) x<4

50.

51.

52.

53.

54.

U A HUSed] HIey Bl UfaRE 100 Q 8 3R
5V ux g yof S99 ux faglyor dar 21 300V
GRS 2 L~ 11 2o B | S | e < )

IR BT A ST BT |
(a) 62000 (b) 3900 Q
(c) 4000 Q (d) 5900 Q

IS Dol SN & forg, MR AT feri &
60 Vebs AT oI 30 Vbs ST Hferg  BET
B

(a) 1.0 1.25 (b) 1.4 1.6

(c) >2.6 ) <1.0

U THIEY H, T9eToT gelreol 9 [ore drel]
EIRT & HIURT BIT 8, 3R SUHWT A 4.5 A
€INT @& {70 75° T qui A 6T (3e19oT 81T & |
1.5 A a7 & fory o fagtuor s o9

SUHoT Ry {4z siar 27
(a) 25° (b) 35°
(c) 40° (d) 20°

et el UAoll f$¥h & 500 9 Al U hride
B IX 10 fiTe & Ty v 6l W&t &1 9

i | Mew Rerih 3600 rev per kWh 3 |

(a) 1200 (b) 300
(c) 400 (d) 600
fau v fomr 4, 5 kQ ufoder & yaifea faga s
X' mA ® | FHeTd quties # x BT A4 B
3k0)
MWW
5kQ 3kQ
A AW
3kQ
MW
6 kQ
MW
| HH!
32V, 1kQ
(a) 4<x<8 (b) 8
(c) x<4 (d) 4

T

www.engineersacademy.org | www.onlineengineersacademy.org

www.eapublications.org | www.nimbus.org.in | Helpline # 809 4441 777



EE : Technical

JSSC-JE-2022

ENGINEERS ACADEMY

55,

56.

57.

58.

59.

60,

ENGINEERS ACADEMY
N¥] men o

LD cc care s psuz arD

In case of less than 0.5 power factor, then both
watt meters read

(a) Same

(b) One read in reverse direction
(c) Bothread different value

(d) One read zero

Ifthree resistances of cach having 20 Q resistance
are connected in delta with 500 volts supply then
current in each resistance  line current.

(a) 25A

(b) 14.4A

(c) 433A

(d) None of the above

The rms value of the resultant current in a wire
which carries a de current of 20 A and a sinusoidal
alternating current of peak value 20 A is

(a) 34.1A (b) 17.3A
(c) 24.5A ) 40.0A

A sinusoidal voltage of peak value 250 V is applied
to a series LCR circuit, in which R =8Q, L =24
mH and C = 60pF. The value of power dissipated
at resonant condition is *X° kW. The value of ‘X'

to the nearest integer is :
(a) 2 (b) 3
(c) 4 (d) 5

In the logic circuit shown in the figure, if input A
and B are 0 to 1 respectively, then output at Y
would be 'X'. The value of X is :

A :
:D—~Y
B
(a) 0 (by 1
(¢) 0.5 (d) None of these

An electric field of 6000 V/m is applied to an
clectric dipole at angle of 60°. The value of electric
dipole moment is 9 x 1072% Cm. What is the
potential energy of the electric dipole?

(a) 2.7 10%T  (b) 2.7 % 10]
() -1.0 x 10T (d) -2.0 x 1057

55.

56.

57.

58.

59.

60.

0.5 | ¥ UER haey B & NI § g7 ae
Hlew ggar El

(a) HH

(b) U faudia faem # yedr @

(c) ST 3Tl T—3TelT A1 Ugd &

(d) U ¥ Yedl &

A& 20 Q YIARET aTel T < WA=E &l 500
dlec 1 AYfd @RI SecT # SISl 96T §
Yl HfoREr # e AR B & qUER
BT |

(a) 25A

(b) 14.4A

(c) 433A

(d) SWRIFT & § S T8I

Uebh dIIX ¥ ufRurif) €RT bl ems A [SIRAET 20 A6
de €117 3i1% BRER A9 20 A U digdigsd
UITE ST BT 8, ©

(a) 34.1A (b) 17.3A

(c) 24.5A (d) 40.0A

250 V [3e W19 bl Ueh gAiged diedyl &l
U SEAT LCR Hidbe W AR fHar SIam &,
799 R = 8Q, L = 24 mH 3 C = 60uF 118
fReafer u= &t wifdky b1 w9 X0 kW 21 X' bl
A {ehead qories H =T s

(a) 2 (b) 3

(c) 4 @) 5

ferm 3 faway v i wfde 4 afq g9ge A
3R BHAT 0 A 18, A1 YUY 3lI9eye ol 91 'X.
BIAT 21 X BT AN fhaT BRI

A .
:D—~Y
B
(a) 0 (b) 1
() 0.5 @) =™ ¥ B TE

60° & 1T Y¥ Ueh (gl ge[d Ux 6000 Vim &1
Ueh fagIa &1 orRifua fobar 1T 2 | fagga faga
ATl BT A 9 x 1028 Cm B | faga fgg@ @1
fReafarot Sull @Ir 27
(a) -2.7 ¥ 102]
(c) -1.0 x 10T

(b) 2.7 x 102]
(d) -2.0 x 1057
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A particle of mass 10 kg and charge Q is in an
electric and magnetic field given by E=2i+ 7} :
B= 7} 1 5k . The charged particle is shifted from
the origin to the point P(x = 2; y=2) along a straight
path. The magnitude of the total work done 1s:
(a) 24Q (b) 4Q

(c) 18Q (d) 140Q

A 54 mW laser beam has a cross-sectional area
of 5.0 mm?. The magnitude of the maximum
clectric field in this electromagnetic wave is given
by: [Given permuttivity of space g =9 > 107 SI
units, speed of light ¢ =3 x 10% m/s]

(a) 9.56 kV/m (b) 7.46 kV/m
(¢) 1.26 kV/m (d) 3.46 kV/m
The self-induced emf of a coil 1s 26 volts. When

the current in it is changed at uniform rate from
10 Ato 75 Ain 5 s, the change in the energy of the

inductance is;
(a) 224517 (b) 42257
(c) 422.51 (d) 45227

A parallel plate capacitor having capacitance
6 pF is charged by a battery to a potential difference
of 20 V between its plates. The charging battery
1s now disconnected and a paper slab of dielectric
constant 3.6 is slipped between the plate. The work
done by the capacitor on the slab is:

(a) 866.67pJ (b) 333.33pJ
(c) 200.00pJ (d) 900.50pJ
A 62.5 W carbon resistor is colour coded with
red, green, green and brown respectively. The

maximum current which can be passed through
this resistor is:

(a) 2.0 mA (b) 20.0 A
(c) 5.0 mA ) 0.50 A

A transformer has resistance and reactance in per
unit ag 0.05 and 0.09 respectively. Its voltage
regulation at full load for 0.8 power factor lagging
and leading will be

(a) 4.8% and — 1.6% (b) 6.4% and - 2.4%

(¢) 9.4% and - 1.4% (d) None of the above

61.

62.

63.

64.

65.

66.

ST 10 kg AT 3TA—AQ I Ueh 1 E = 21 + 753
B= 7+ 5k g f& T fage vd g &= 4
31 24 A &l ol g A [AqgPx=2;y=2)
T U AT el o UeT & e (AT v
B | AT & FNT B T FHd BRI BT gRHATT
fehetT 2:

(a) 24Q (b) 4Q

(c) 18Q (d) 140Q

54 mW b Ueh olol¥ fheuilol & 3ruRel bic &l
EFhd 5.0 mm? §| 9 fAgd gy avr @
HETH JEIl &3 T NoTH BT

[fear & fafa @ fagaeiedr e, =9 < 1072 SI
HIHeh, YHTET DI dTel ¢ = 3 x 10% mfs]

(a) 9.56 kV/m (b) 7.46 kV/m

(¢) 1.26kV/m (d) 3.46kV/m

19 Uth Scll 9 &N Bl 5 s H UHEAH X 10
AY 75ATRN B 1 fodl ¥ WU f9gd ared
qa1 26 volts & | HUSl &1 Hull H UfRdc T 7
BNIT:

(a) 22457 (b) 422571

(c) 422,51 (d) 45221

6 pF &NNAT & Ueh IR Wi GEMNA 61 20V
fTar<e &1 9 ¥ MR fohar ST 2| O B
g & ygdid I YNdgdis 3.6 & Ub Uu¥
®Ig B =il & 419 4 STd 37 ST 8 | Henfis
T Eold O¥ {Bar rar &ri gl

(a) 866.67pJ (b) 333.33pJ

(c) 200.00 pJ (d) 900.50 pJ

62.5 W @ U H1eT TIIRET I SHALT: I, B, B
qIT R T H Bble fhar A B arferman
€INT 1T &9 UfRIEl 9 98 bl o, BT

(a) 2.0 mA (b) 20.0A

() 5.0mA (d) 0.50A

U ZIAH AR T Ui gfTe # e v ufdfsha
(@) sper 0.05 3119 0.09 & wy H Bl 21
0.8 YTy by AT 2 i€ & oy g dig
UY FHET dlccol WeeH BRI |

(a) 4.8% 3R— 1.6% (b) 6.4% 3R - 2.4%

(c) 9.4% 31-1.4% (d) SR o A Pl 21
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At full load copper loss and iron loss of transformer
are 6300 W and 2500 W respectively. The copper
loss and iron loss at two-third load will be
respectively?

(a) 2800 W and 1500 W
(b) 4200 W and 1600 W
(c) 6300 Wand 2500 W
(d) 2800 W and 2500 W

What will be the emf generated by a 4 pole lap
connected DC Generator rotating at 600 rpm? Its
flux per pole is 0.4 mWb and total no. of armature,
conductors is 1200.

(a) 3.0V (b) 4.8V
(c) 6.0V @) 10V

A 4-pole 50 Hz induction motor is running at 1460
rpm. The frequency of rotor current is

(a) 1.3Hz (b) 1.0Hz
(c) 15.0Hz (d) 50Hz

A potential barrier of 0.80 V exists across a P-N
junction. If the depletion region is 4.0 * 107m
wide, the intensity of the electric field in this region
is.

(a) 1.0x 10°V/m  (b) 4.0 x 106 V/m
(€) 20 x10°V/im  (d) 2.0 x 10 V/m

Find the change in collector current, if change in
base current is 0.03 mA? 3 = 100.

(a) 3mA (b) 30 pA
(c) 3pA (d) None of the above

A coil is wound with 400 tums and has a resistance
of 44 ohms. When the exciting voltage is 220 V,
the magnetic flux linking the coil is 0.00008 Wh.
Calculate the inductance of the coil in henry.

(a) 0.024H (b) 0.0064H
(c) 0.0040 d) 641

Find the average power consumed in the circuit if

500 .
a voltage V_ = ESIHQ t is applied to an AC

circuit and the current in the circuit 1s found to be
1=2sin( t+n/4).

(a) 500 W
(c) 100 W

(b) 1000 W
d) 250W

67.

68.

69.

70.

71.

72.

73.

qul A8 UX BN A 3N ZTHBHY BT AT
T HHEE 6300 W3R 2500 W 2 | dfd &) sIf+
3N AR DI BN ST I8 AN U HAT BR1?
(a) 2800 W2l 1500 W
(b) 4200 W iR 1600 W
(c) 6300 W 2iR2500 W
(d) 2800 W R 2500 W

600 rpm U g0 63 did 7 Ul ol drldds DC
SIFREY §IRT ST~ emf oRIT BITT? S¥hT Teldd
9T At 0.4 mWb 2 2R IR Fededl &1 |
T 1200 2 |

(a) 3.0V (b) 4.8V

(c) 6.0V ) 10V

UH 4-U1d 50 Hz 8 Ay 1460 rpm N 9
W@ 2| A Grr &l gl o |

(a) 1.3Hz (b) 1.0Hz

(c) 15.0Hz (d) 50Hz

P-N 9fef & aR-UN  0.80 V &1 {q7a araver
faem 21 afe 89 &84 4.0 x 107m AT 8, @
=9 &9 9 faga &= &) faar 2

(a) 1.0 x 10°V/im  (b) 4.0 x 105 V/m

(¢) 20 x10°V/m  (d) 2.0 x 10 V/m

e AR RT3 4Rads 0.03 mA B, Of WUTss
§IRT # ufads ST SIfSN? B = 100.

(a) 3 mA (b) 30 uA

(¢) 3uA (d) SWIFT 4 9 BIF &
U HUScll H 400 B AN 8 3R FHBT Ylever
44 309 | 91 Scluld diecol 220 VBT 3, o
Sigd ¥ Tl g weedd 0.00008 Wb BIHT
8| BT | HUSH! & UNT ] TOMT HY |

(a) 0.024H (b) 0.0064H

(c) 0.0040H (d) 64H

gfd AC ®fhe ¥ diedsl V = %Sinwtaﬂw

SIRIT © 3fIY @fbe # H¥e i =2 sin(_t + n/d4) URIT
ST o, ol dfebe 3 w@ud &1 78 afted wifdd &1
T Y |
(a) 500 W
(c) 100 W

(b) 1000 W
) 250 W
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A 3-phase 400 V, 50 Hz induction motor requires
a current of 80 A. Calculate its HP at a P.F. of 0.8
and efficiency 85%.

(a) 50.5 (b) 30

(c) 40.5 (d) 60

The Superposition theorem is applicable to
(a) Current only

(b) Voltage and power

(c¢) Voltage and current

(d) Voltage, current and power

In a three-phase induction motor, the staring torque

will be maximum when

(a) RX =1 (b) RyX, =1

(c) R,=X? ) R, =X,

(Where, R, = rotor resistance and x, = rotor
reactance) 77.
Salient pole rotors:

(a) Normally require damper windings

(b) They are typically used in lower speed
clectrical machines

(¢) They are mostly used in hydropower plants

(d) All ofthe above

Earth clearance when low and medium voltage

overhead line cross the road
(a) 6.1m (b) 5.8m
(c) 6.8m (d) 5.0m

The armature core 1s made of silicon steel because
of its

(a) Weak permeability and lower mechanical
strength

(b) Weak permeability and more mechanical
strength

(c) More mechanical strength and strong

permeability

(d) None of the above

74.

75.

76.

78.

79.

U 3-%f 400 V, 50 Hz SSFR #AleT BT 80 AdT
SIRT &bl 29T skl o | 0.8 PF 3V 85%
BT UY 39 HP &7 0T Y |

(a) 50.5 (b) 30
(c) 40.5 (d) 60
YuyifSTe Wi 1) BIdT 2
(a) Bde EIRT U

(b) diccdt 3R Tfed TR

(c) el AR &RT U=

(d) el &IRT 3R TfkT U

T ARo7 BT Hiew |, URAd i rfEhaH I

g

(a) RX, =1 (b) R/X, =1

(¢) R,=X? ) R, =X,

(STBT, R, = Wex 9w 4R x, = Ve ufdfshan)

Afeiu=e ¢fa v

(a) 3T Y U SR aSfST &) amagddhar gl
°

(b) 9 2T AN WX A Wi arcl faga wei o
QUANT [y I B

(c) 9 SUTGIAY e faea wo=l | SudnT fhy
EIGR

(d) SUekT T

HH H 7 dlecol AANes dlg Bl TSh IR

HH D IE AW feri g afie

(a) 6.1m (b) 5.8m

(c) 6.8m ) 5.0m

AR B fafw = Tt HT g1 BT 8, ifd

(a) SDT HHAVIR YIRITRIAT 3R 4 Aifzd afdd
Bl 2

(b) SR HAGIR URITRIAT R arfers Jifad
elfekT sIdT 8 |

(c) SHE Mk HilZieh ifdkr 3iR Holgd Ure=Icr
B B

(d) SRIKT § A B 8
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(a) Gross errors (b) m@?ﬁ gf%?ﬁ AN gy gf%?ﬁ
(b) Random errors and environmental errors (c) JUhNUT Tgﬁ?ﬁ
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83.

84,

85.

ENGINEERS ACADEMY
N¥] men o

LD cc care s psuz arD

(c) Instrumental errors

(d) Environmental errors and instrumental errors

If two meters W1 and W2 require 35 mA and 47
mA respectively to give full scale deflection, then

(a) W1 is less sensitive

(b) W2 is less sensitive

(c) Both W1 and W2 are equally sensitive
(d) Relative sensitivity cannot be decided

In resistors, two wires side by side in opposite
direction are wound in order to

(a) Givehigh mechanical strength
(b) Increase the coil inductance
(¢) Increase the resistance

(d) Reduce the coil inductance

Which of the following groups have similar units?
Symbols have their own common meanings.

R 1 1
(a) RC, VL 5%

® 1 e re

5

ST S
The motor enclosure used for industrial purpose
is

(a) Totally enclosed type

(b) Protected type

(c¢) Open type and drip proof type

(d) Drip proof type

Choose the incorrect statement:

(a) The power factor of an alternator is
determined by its load

(b) For the parallel operation of poly-phase
alternator, the voltage rating must be same

(c) Zero power factor method of an alternator is
used to find its armature resistance

(d) Damper windings are used to prevent the
hunting of synchronous generators

81.

82.

83.

84.

85.

(dy yaiawoli gfedt ik Sudwor Hff et

Ife a1 ey W1 allv W2 &l qof 49 ov - faergor
I & foTU H99T 35 mA 3R 47 mA B g Har
Bl o, dI

(a) W1HH HagTeld B

(b) W2 &H Hda=eld &

(c) W13 W2 3T v wu 9 Hdaeiiar 21
(d) HTUET HAGTLNAT T T8I Dl ST Hebell
gl 3, [quda faem # apte—a3d <1 IR &)
SYR dYeT ¥ ®

(a) S=d Tifa Wi <ar

(b) BUSell Uwor 3 gig Sl

(c) UfeNE ¥ gig Har

(d) BUST UROT bl HH BT

frfafiad 4 9 {59 998 & 99 35 87
YR @ IO AR el 87

(a) RC,JLC,%

R 1 1
(b) L’ J1.C RC

(c) ﬁ,RC,% (d) RC?ﬁJE

ailelfirer GRey & o1y QualT fbar oiid drddr

Hiex Gelivld ©

(a) ¥l %8 ¥ 44 YbN

(b) HYIERT Wb

(c) MU €Y AR f3U Y& <=y

(d) fgu gw <™y

A HUT T

(a) U 3Tec¥cy & UfkT HRdb I8H TR IR
faeifRa foar omar 3

(b) UfelT-Hol afce¥iey & HAMIAY Galad &
ferg, aledsr e @ B anfay

(c) U eeIey ®I I wlad BN (afer o
SYART 9D AHN HIORE Bl Eie & fofu
fepar ST &

() [P SReY & BT B Vb B fau
SR IRfST BT ST fhar o T &1
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Select the correct statement:

(a) Capacitor start motor has the least starting
torque

(b) The speed/torque characteristics of a
universal motor 1s similar to DC series motor

(¢) Invacuum cleaner, reluctance motor is used

(d) In an induction motor, pt will be increased if
air-gap is increased

In order to control the speed of a 3-phase slip ring
induction motor through injected voltage in its rotor
circuit, this voltage and the rotor voltage should
essentially be

(a) In same phase

(b) In quadrature phase
(c) In opposition phase
(d) Of same frequency

In which type of DC motor is very effective for
rheostatic dynamic braking

(a) Separately excited motor

(b) Series and cumulatively compounded motor
(c) Cumulatively compounded motor

(d) Shunt motor and series motor

Which one of the following statements for a DC
machine provided with a compensating winding
(CW) and interpole winding (IW) is correct?

(a) Both are connected in parallel with the
armature winding

(b) Both are connected in series with the armature
winding
(c) CWis connected in series but IW is connected

in parallel with the armature winding

(d) CW is connected in parallel but IW is
connected in serics with the armature winding

The full-load copper loss of a transformer is two
times of its core loss. At what percent of the full,
load, the efficiency will become maximum?

(a) 57.7% (b) 70.7%
(c) 63.7% ) 37.3%

86.

87.

88.

89.

90.

B! U Bl aAT B

(a) HURCR WIS HicY H 994 HH wIie T ©ib

BIdT B |

(b) U GidIfieh M 61 Y/ <leh e RERT
DC $%lT ey & T BT 2 |

(c) JIH el TR ¥, VA H HIew &l ST fhar
ST B |

(d) TS UNOT HISY H, 3NTY arg—aiaNTd gel (3T
ST & dl pfag SiTuiT |

3-hul Rty 7 SSae Hiex o1 TfT & f=faa
9 VX Afbe # guldcs dlecul & ARIH 9
¥ & U 28D dlecol 3R e dledul aifar]
w4 Y BT A1 |

(a) UH & ol #

(b) Z@ﬂ\_ﬂ (Quadrature) ol H

(c) ®ul faxter 4

@) T & amaRr B

Retefaen iR 3031 < fory Pt e )
DC HIeY g8d YHTE1 &7

(a) AT UdERCS HicY

(b) AT 3R FRPFATTAl HHTISS HIew

(¢) RIFACTaC] HHUESS HICY

(d) € HISX AN SEAT AN

ST GiEfET (CW) 3ilv gevdld aEfdr

AW) & 9RI qad & T3 DC He\ & fou

fAferfRad 3 9 S a1 v ww 3

(a) Q1 3ty 9T & A ¥ 9 8ld 2

(b) ST TR ST & #gar # 9 81 2

(c) CW sfadr 4 oSl BT & b IW aIRfa
AEET & IR # ST BT 2

(d) CW HHMIGR H ST 8l & W 3R
AEET B ARI gEdr # ST BIdT 3 |

Uh LAWY &1 gul s HiuX o S8 HIX

QAT T 2T IAT 8 | Yol AR fd fehae] uferer o

QT 3MfErhaT BT SITge?
(a) 57.7% (b) 70.7%
(©) 63.7% () 37.3%
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93.

A 6-pole, 60 Hz, 3 phase induction motor is running
at 1160 rpm and has rotor Cu loss of 6 kW, its
rotor input is

(a) 150kW (b) 500 kW

(c) 200kW (d) 1000kW

The main purpose of using core in transformer is

(a) For efficient flux linking between windings

(b) Prevent eddy current loss

(¢) Both (a) and (d)

(d) Decrease reluctance of the common,
magnetic circuit

A DC shunt generator is supplying a load of 1.9

kW at 220 V. Its armature and field resistances

are 0.5 Q and 400 Q respectively. What is the

generated emf?

(a) 222V (b) 230V

91.

92.

93.

U 6-Uic], 60 Hz, 3-l 294 AleY 1160 rpm

YR el Y8l @ 3R s9H 6 fdhelldie &l e Cu ol

2, THHI YIeY YC &

(a) 150kW (b) 500kW

(c) 200kW (d) 1000kW

CIABER 7 DI BT SRR HR BT &I IR o

(a) GEfET & 419 B yddd fAfBT & oy

(b) IR €T THTAN BT Abet & foru

(c) Gl (a) 31 (d)

(d) BEA JHEEI didhe B Wadd § BN b
fery

Ueh DC SR 220 VU 1.9kW & HR &l 3yl

DY BT 2 | S¥D] AR R &5 WlaEr er 0.5

Q 2N 400 Q & | HBT Iq~T emf FIT 57

(a) 222V
() 221V

(b) 230V
) 225V

(c) 221V

dy 225V
& 94,

94,

9s.

96.
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A P-pole DC machine, the relation between
mechanical and electrical degree is given by

P
(a) eelecT’. = ﬁemech
2P
0, =0
(b) clect \/Z mech

2
(C) eelect = E emcs:h

4P
6, =——0
(d) elect ,'4 mech

The circuit generally used in digital instruments to
convert sine waves into rectangular pulses is

(a) Differential and sawtooth generator
(b) Schmitt trigger circuit
(c) Sample and hold circuit

(d) All ofthe above

The input impedance and practically input
capacitance of CRO has a range of

(a) kQ and pF (b) MQ andpF

(¢) kQ and nF (d) MQ and pF

9s.

96.

U P-Uld DC #eliH, il oik faga sl &
4 HeeT fhad grT fear o T 21

P
8, =—=~0
(a) elect \/1 mech

2P
(b) 6elect y 6mech

v %

(C) 6e]ect =

mech

T

g1 I8 61 JAER Yodd § g9 & oy
AT IR U fefSted Suben # SuaiT fhar oie
qrelT Afhe B

(a) TSHNRTTA aflN HICT SNy

(b) 39T (Schmitt) fgak wfdbe

(¢) AT 3R Bles Aldbe

(d) SURIFT T

CRO & que ufddrn 3k Jasiie wu
STYC BUNCH &1 Teb EHT BIT 8 |

(a) kQailRpF (b) MQ ailR uF

(c) kQ 3R nF (d) MQ &l pF
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The phenomena of ‘creeping” occurs in

(a) Watt-hour meters and Voltmeter

(b) Watt-hour meters

(¢) Voltmeter and Ammeters

(d) Wattmeters and Ammeters

Which of the following is a scalar quantity?
Magnetic potential

Susceptibility

Magnetic field intensity

= B =

Magnetic flux density

(a) 1,2,3 (b)y 2,3

(c) 1,2.4 (d) 3,4

The element which are not capable of delivering
energy by its own are known as

(a) Active elements

(b) Passive clements

(c) Nonlinear and active elements

(d) Unilateral and active clements

For determining the polarity of the voltage drop
across a resistor, it is necessary to know the

(a) Value of power in the resistor
(b) Value of emfin the circuit
(¢) Value of resistor and current

(d) Direction of current flowing through the
resistor

In a balanced Wheatstone bridge, if the positions
of detector and source are interchanged, the bridge
will still remain balanced. This reference can be
drawn from

(a) Duality theorem

(b) Equivalence theorem

(c) Compensation theorem

(d) None of the above

~1is the tendency due to which Squirrel-cage
Induction motor runs at a very low speed in
comparison to its synchronous speed.

(a) Cogging

(b) Crawling

(c) Cogeging & Crawling

(d) None of the above

97.

99,

100.

101.

102.

(a) die—®c AIeR 3N dlecHley
(b) ae—wc HieY |

(¢) dieeHlcy 3l wHley ¥

(d) areHies 3k gie #

fereaferient 31 &1 B9 yeb arfaer wfdr 22
1. TEE o

2. gWfefafere

3. FEDH &F & Al

4. PHEBY Ul E-cd

(a) 1,2,3 (b) 2,3

(c) 1,2,4 (d) 3,4

9 Uferficd ST 21U amg SHoll o+ # HeTT T8l &,
FHBARI ©

(a) WlsHa ufedey

(b) TafSpar vferde

(¢) ardla efi wfha yfericy

(d) W(Uﬂilateral)sﬁ?ﬂ%ﬂ Qﬁﬂﬁ?ﬂ
Uh YR & U dledol | &l gadl
fReriRa e & o1y, As SIHHT anagas @ {6
(a) wfaRer 9 wifda &1 74

(b) afhc # emf 21fT &1 w4

(c) RN 3R €IRT 6T AN

(d) WIAREr & AERIF ¥ 981 dreil ©RT 61 faem
U Wgfad miewe  fau 4 afe fedaev oy
G D1 RRIfd &7 amo | 92 faar 9T 2, dr
Al Sl fol dgfeld warg | s ded 4
foram 4 8

(a) 8 99

(b) el Wi

(c) HHAAL Y

(d) SWIF 4 | HIF &I

g8 ygia & f9® BT (ERRd do
SeH HIeY Ul Jedadblfeld Al &1 got-r i
45 B ThT A ol B

(a) BT

(b) shifeiar

(c) PN 2l shifef

(d) STIRT H I FHiE T8
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In a lead acid battery, separators are provided to
(a) Reduce internal resistance

(b) Facilitate flow of current

(¢) Avoid internal short circuits.

(d) Increase the energy efficiency

Which of the following is an auxiliary equipment
of the Steam generating plant?

(b) Feed water
(d) Alternator

(a) Air preheater

(¢) Steam turbine
is an advantage of Corona effect.

(a) Virtual increase in conductor’s weight

(b) Virtual increase in conductor’s diameter

(c) Virtual increase in conductor’s voltage

(d) Virtual increase in conductor’s frequency

A generating station is to supply four regions of
load whose peak loads are 15MW, 10MW, 14MW
&18MW. The diversity factor at the station is 1.9
and the average annual load factor is 60%. What
1s the maximum demand on the station?

(a) 30MW (b) 38 MW
(c) 48 MW (d) 25 MW

In symmetrical fault caleulations, percentage
reactance at base kVA is equal to

(a) Base kVA/rated kVA x % reactance at rated
kVA

(b) Base kVA / rated kVA x % capacitance at
rated kVA

(¢) Base kVA < rated kVA x %reactance at rated
kVA

(d) None of the above

Which of the following is not unsymmetrical fault?
(a) Single Line to ground fault

(b) Line-to-line fault

(¢) Double line-to-ground fault

(d) Line-to-line-to-line fault

103.

104.

105.

106.

107.

108.

TF ois uf¥s 4l # faoTs ue™ fhu o @
(a) 3TfaRe URIRET B HH BT

(b) N1 & YaTs ¥ YlaEm wwdl &

(c) 3NaRe wiid wfbe A g 2

(d) Holl IETT GIAT ©

fr=forfiad 3 9 @I A1 I B ATl GAA
FT TBTIH IUHIT &7

(a) TN UBley (b) ™IS UHI

(¢) VIT9 TNETST (d) aTcewiey

_ HIIET UAId BT U BRIST B

(a) HSFX B Iol H ATATH gfg

(by HSd b AT W AR i

(c) HSHX & dlecl ¥ AT giag

(d) B 1 Argler 3 sl gt

U STNEY W Al @ =N & & 3IYfed Hr
2 fOTIT 2AffIBaT TR 15MW, 10MW, 14MW
3R 18MW 2 | &M W fAfderdT HRe 1.9 8 3R
ot a1 TR ®RE 60% & | WIF T Tqd
Sq1el foHis T =?

(a) 30 MW (b) 38 MW

(c) 48 MW (d) 25MW
AT ST 0T, ATEMY. KVA UR Ufcrerd wfcrfshan
qUEY 3|

(a) SHKVARTS KVA x % Whe-¥H Vo8 kVA T

(b) 9T kVA /RTS kVA x % HURIC WS kVA
v

(c) 99 kVA x 3¢S kVA x % Wdhe~d Ws kVA
v

(d) SURIRT H A Hig Tol
fr=IfeTiRea 3 9| &I 1 U fawH qIY 181 87
(a) Riwrel ¢l ¢ ¥rde bhice

(b) TET—C—<lg Hic
(¢) Sdel dllgri—UIds hiee

(d) TR AT Bied

www.engineersacademy.org | www.onlineengineersacademy.org

www.eapublications.org | www.nimbus.org.in | Helpline # 809 4441 777



EE : Technical

JSSC-JE-2022

ENGINEERS ACADEMY

109,

110.

111.

112,

113.

114.

115.

ENGINEERS ACADEMY
N¥] men o

LD cc care s psuz arD

More insulation is required in

(a) Delta connection and Star connection
(b) Neutral connection

(c) Star connection

(d) Delta connection

As the doping to a pure semiconductor increases,
the bulk resistance of the semiconductor

(a) Decreases

(b) Remain the same

(c) Increases

(d) Increases and Decreases

In percussion welding, the heat is produced by a

rapid discharge of stored electrical energy from
(a) Resistor (b) Capacitor
(d) Inductor

type of transducer.

(¢) Transformer
A quartz crystal is
(a) A chemical transducer
(b) A photoelectric transducer
(c) Not a self-generating transducer
(d) A self-generating transducer
is involved in Strain gauge measurement.
(a) Kelvin bridge and Anderson bridge
(b) De Sauty's bridge
(c) Wheatstone bridge
(d) All ofthe above

Reproduction of objects by electrodeposition on
some sort of a mould or form 1s known as

(a) Electrotyping (b) Electrofacing

(c¢) Electroforming (d) Electrometallisation

A daily load curve which exhibited a 15-minute
peak of 5000 kW is drawn to scale of 1 cm = 3
hours and 1 cm = 1000 kW. The total area under
the load curve is measured by planimeter and is
found to be 15 cm?. What is the load factor based
on 15-min peak?
(a) 37.5%

(c) 32.5%

(b) 42.5%
d) 47.6%

109.

110.

111.

112,

113.

114.

115,

fFl ErlaRM ¥ 2AfH FTYATT Bl ATILIBAT
IR

(a) ST HIRM AN TR HelaeM

(b) Te®I (Neutral) HrIdH

(¢) TR Dol

(d) SecT hdeH

SO g aefEras &1 ST ggar @
HNEFTAD BT gob UawEr—————— 2

(a) Tl &

(b) f&R BT B

(c) 9gdT &

(d) 9T 3R "edl &

GeR{gH dfet W, fhy & €yt fagd qull &

dull 9 48T g7 &7 S0 BT & |

(a) UfoRIEr (b) TEE

(c) CRIBFR (d) SsFX

Uh Hes heed YhN HI ZTHSYHY
il

(a) Uh NHRIMS ZASYR B

(b) U Biclgaldgd Ciagyay

(c) Uth ¥ IUEh CTHSYN Tel
(d) U WSS H CIOSTR

g 9 AW i 2

(a) BT gt 2fN VS fgal

(b) & HiIT fgeT

(c) @leweH faul

(d) SURIFT T

fHdl YN & Wi A1 ®Y UR Feldg s gRT Il
T G Ta T —————— @ ®Y H ST ST R |
(a) AT (b) SeldIBRIT

(c) SAFIBIFT (d) Taga g oT

UH 26 TR @6 ST 5000 kW T 15 ffre &7

Y &I wef3fd ST 2, 1 em =3 hours 3i1¥ 1 cm
=1000 kW & T U i SITeT 8 | 4R dsb b

A BT HA EHBe HIHICY EINT A197 ST &
aile I8 15 co? YTIT oITdT 81 15 e & R

U3 3R ofle haey T 87
(a) 37.5% (b) 42.5%
(c) 32.5% (d) 47.6%
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Which of the following is a Solid State Welding?
(a) Projection, Ultrasonic, Electron beam welding
(b) Friction Stir, Projection, Laser beam welding
(c¢) Projection, Ultrasonic, diffusion welding

(d) Explosive, diffusion, Electron beam welding

The permissible value of shielding or protective
angle in transmission line is

(a) > 60°
(b) Between 50° to 60°
(c) Between 40° to 50°
(d) <40°

Select the mismatch

Voltage Definition
(a) Low Not exceeding 250V
(b) Medium Exceeding 650 V
(c) High Not exceeding 33 kV
(d) ExtraHigh Exceeding 33 kV

Earth wire should be connected to.carth at an

interval of at least  pointsin ~ km.
(a) 22 (b) 31
(c) 48 (d) 110

Shackle type insulators are used for:

(a) Straight end, Dead end, high voltage
(b) Straight end, Turning end, high voltage
(c) Dead end only

(d) Turning end, Dead end, low voltage

116.

117.

118.

119.

120.

T8 W ST difers e dfesT &7
(a) YIS, 3leg? : 5, Qéaﬂuq 17 dfods

(b) Thae R, WISTaeM, eioly 419 dfesT

() WIS, eI, fSwgeTT afésT

(d) U1, fSwrgoi, selaife & dfega
e g yderr A1 GRelare HIoT bl
T A B

(a) >60°
(b) 50° 9 60° ® 414
(c) 40° ¥ 50°® 1

(d) <40°
dHel BT T Py

qiec ol EIRGILT
(a) BH 250V 9 arfers T8
(b) HETH 650 V ¥ aIferp
(c) Sed 33 kV 9 alfeih a8l
(@) AfaRaed S=a 33kV 9 3fe®

el IR 6T gl ¥ HH | FHH favgart &
3T U foptlY o SileT ST =13y |

(a) 22 (b) 3,1
(c) 48 @) 1,10

Sihel bR & Iy B IUANT fHT ST 872
(a) W< TS, S8 Us, Ied diecul

(b) ¥ Ue, <7 Us, 9ed dicdol

(¢) Tad =3 TS

(d) e+ U, 93 Us, |l dlecul
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ANSWERS KEY

1. Ans. (b) 31. Ans. (a) 61. Ans. (o) 91. Ans. ()
2. Ans. (0 32. Ans. (d) 62. Ans. (%) 92. Ans. (¢
3. Awns (a) 33. Ans. (b) 63. Ans. (%) 93. Ans. (d)
4,  Ans. (b) 34, Ans. (d) 64. Ans. (a) 94, Ans. (a)
5. Ans. (a) 35, Ans. (@) 65. Ans. (o) 95. Ans. (b)
6. Ans. (a) 36. Ans. (b) 66. Ans. () 96. Ans. (d)
7. Ans. (¢ 37. Ans. (¢ 67. Ans. (d) 97. Ans. (b)
8. Ans (0 38. Ans. (¢ 68. Ans. (b) 98. Ans. (%)
9. Ans. (d) 39. Ans. (o 69. Ans. (a) 99. Ans. (b)
10. Ans. (b) 40. Ans. (d) 70. Ans. (b) 100. Ans. (@)
11. Ans. (@) 41. Ans. (b) 71. Ans. (a) 101. Ans. (@)
12. Ans. (o 42. Ans. (a) 72. Ans. (d) 102. Ans. (b)
13. Ans. () 43. Ans. (d) 73. Ans. (d) 103. Ans. (¢
14. Ans. (b) 44, Ans. (b) 74. Ans. (a) 104, Ans. (c)
15. Ans. (@) 45. Ans. (b) 75. Ans. (o) 105. Ans. (b)
16. Ans. (¢ 46. Ans. (a) 76. Ans. (b) 106. Ans. (a)
17. Ans. (b) 47. Ans. (a) 77. Ans. (d) 107. Ans. (a)
18. Ans. (a) 48. Ans. (b) 78. Ans. (b) 108. Ans. (d)
19. Ans. (¢ 49, Ans. (a) 79. Ans. (o) 109. Ans. (@)
200 Ans. (@) 50. Ans. (d) 80. Ans. (w) 110. Ans. (@)
21. Ans. (b) 51. Ans. (b) 81. Ans. (b) 111. Ans. (b)
22. Ans. (¢ 52. Ans. (a) 82. Ans. (d) 112. Ans. (@)
23. Ans. (a) 53. Ans. (b) 83. Ans. (b) 113. Ans. (¢
24, Awns. (d) 54. Ans. (d) 84. Ans. (b) 114. Ans. (o)
25, Ans. (d) 55. Ans. (b) 85. Ans. (o) 115. Ans. (a)
26. Ans. (d) 56. Ans. (d) 86. Ans. (b) 116. Ans. (b)
27. Awns. (d) 57. Ans. (o) 87. Ans. (a) 117. Ans. (d)
28. Ans. (a) 58. Ans. (¢ 88. Ans. (a) 118. Ans. (b)
29. Ans. (¢ 59. Ans. (b) 89. Ans. (b) 119. Ans. (b)
30. Ans. (b) 60. Ans. (b) 90. Ans. (b) 120. Ans. (@)
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